Zx A H=1.8m

Bk B

-\

BAYATE A=1,‘20i§'Tf$ ;
]

=57.0m

¥

&
i
W

&

&

wEIavs L




1,000

114, 500

10, 500

,000

74,000

5, 000

24, 000

3,000

68, 000

3,000

Zz X H=1.8m
oy b

57, 000

(N6 T— __—- P

2,500

50, 000

2,500
o

LR

SRR

0 0.0.9.0.9.0.9.0.0.9.0:9
"l

4
otesetaisteleletelotels’

SRR
LRLRLRKELLR

5
#0508
Tatele;

SR

SHRKKS
SRS

KRR

5
o2

2ln iy

9000990,

5
25
25

o202 %% % %%

S
N\

LR

1,000

3RS
s
42!

aiataleTutel!

RERREIERRLEEILEAKKK
02050206202 %62 %0 %% %%
SR ELRRAILLRRAIKS
GRS

S
eaatels,
o %%
RS
0202

QRS
ZRRS
S8
ntate
5%,

%
J5RES
e
Z5ELS
LS
SRS
IS
IS
J5LS
IS
SRS
olele
o de e
5
%
Z55KLS

2
<

o,

Do

SRS
92050502020 % %%

R

a0ess,
CHSCH
SIS

%

Rt
KKK
Sriti
s
&
o
S

sTa0slel

‘Q$?D

20900
SRIX
el

s
=

X
45
5

9. 9,099,990

OCOCKBAY ATE A=1, 205m 0‘0

%
GORTHKIIRIKIRIRS
GIEHHLAXHIRKRKS
GXHHRAXHIKKS
oooqgggggggggﬁﬂ
9

&

505

ég’o
SR
25
25
o2
oo

%
%
ale!
258
olele!
L
o
o2el

5
SRR

D00 %0 %0 %

I E4H

(R#) LHEHAET—LHEREREIE

THEGH

FEM/NEA

FEEE [ 4—]

1:400 |EEEAB 2019.07

1’?&%%‘

lE@%&% //




